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4R | HEEH mnig £5 &
1/2 3 vk | 0.65MPa Eiii
3/4 3 Y4 yk | 0.65MPa m
1 3 vk | 0.65MPa Eii
11/4 3 Y yk | 0.65MPa =
11/2 3 Y4k | 0.65MPa =
2 3 Y4 yk | 0.65MPa m
21/2 3 vk | 0.65MPa Eii
3 3 Y yk | 0.65MPa =
4 3 Y4k | 0.65MPa =
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HA4 X SEREL fniE I£5 &
1/2 3 Jryk | 2.5MPa i
3/4 3 Jyk | 2.5MPa i




1 3 Yyk | 2.5MPa m
11/4 3 Yyk | 2.5MPa Eii
11/2 3 Yryk | 2.5MPa =

2 3 Jryk | 2.5MPa i
21/2 3 Yyk | 2.5MPa m

3 3 Jyk | 25MPa =

4 3 Yyk | 2.5MPa b
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4 X | HEE%k AniE 5 w R
1/2 3 Y4 yk | 0.02MPa =
3/4 3 Yyk | 0.02MPa b
1 3 Y4 yk | 0.02MPa b
11/4 3 Yryk | 0.02MPa Eiii
11/2 3 Y yk | 0.02MPa =
2 3 J4yk | 0.02MPa =
21/2 3 Y4 yk | 0.02MPa b
3 3 Y yk | 0.02MPa Eiii
4 3 J4ybk | 0.02MPa o
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EE
4R | HEEH mnig £5 tw B
1/2 3 Y/ yk | 53.3kPa Eii
3/4 3 4 yk | 53.3kPa =
1 3 4 yk | 53.3kPa =
11/4 3 Y4 yk | 53.3kPa m
11/2 3 /ryk | 53.3kPa Eii
2 3 vk | 53.3kPa =
21/2 3 4 yk | 53.3kPa =
3 3 Y4 yk | 53.3kPa m
4 3 J4ryb | 53.3kPa i
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1/2 3 Yivk | 1.0kN 4.2




3/4 3 vk 1.9kN 4.7
1 3 ik 3.2kN 4.1
11/4 3 Jrybk 4.5kN 6.5
11/2 3 Jrybk 71.2kN 10.6
2 3 vk 9.3kN 9.7
21/2 3 Viyk | 144kN 50
3 3 V7yk | 31.2kN 58.5
4 3 Vb 825
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4. 6¥RENERER
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7K £ 1.75MPa
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4R | HEEH mnig £5 & ES

1/2 3 Y yk | 1.75MPa Eiii
3/4 3 Y yk | 1.75MPa =
1 3 Y4k | 1.75MPa =
11/4 3 Jyk | 1.75MPa b
11/2 3 Y yk | 1.75MPa Eiii
2 3 J4yk | 1.75MPa m
21/2 3 Y yk | 1.75MPa Eii
3 3 Y yk | 1.75MPa =
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Ei| mg/| 1. OLIF
£n mg/| 0. O1LUF
WL mg/| 1. OLLF
HREH L mg/| 0. O1LUF
BIVAVEA)DLEES mg/| 1. OULF
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1/2 2 Y4yk 10.196MPa &=
3/4 2 Y4k [0.196MPa b
1 2 J4rybk [0.196MPa b
11/4 2 Y4k |0.196MPa ®
11/2 2 Y4yk 10.196MPa &=
2 2 Y4y [0.196MPa =
21/2 2 J4rybk [0.196MPa b
3 2 Y4y [0.196MPa b
4 2 Y4 yk 0.196MPa Eiii
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